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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Arrangement And Pattern Questions Overview

Arrangement And Pattern Questions have a good weightage in the Banking Exam and the type of question asked in
Banking exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they
have tried to elaborate the concept used in Arrangement And Pattern Questions.

Arrangement And Pattern Questions

Directions: Study the following data carefully and answer the given questions accordingly. A series is given below and after
performing a certain number of operations, we get a meaningful word. 76DB8C 8G4LPQ J65ATR 3PNOM ZQK32
Meaningful word - BLANK

Question

By which of the following series, the word given below will be formed? BASIC

Difficulty : Moderate Average Time: 43 Seconds

Options :
1. 792TS XT10R LNU65 KM9OP YZ7Q8

2. 792TS XT10OR LNS65 KMOOP YZ3Q8
3. 796TS XT1OR LNS65 KMOOP YZ3Q8
4. 792TS XT10R LNS65 KM40OP YZ3Q8

5. None of these

Solution

The correct answer is Option 2 i.e. 792TS XT1OR LNS65 KM9OP YZ3Q8
Given Series: 76DB8C 8G4LPQ J65ATR 3PNOM ZQK32

1. Replace all the numbers with their respective letters in the alphabetical series to form five/six-letter formations.

Page No: 1

. =

+91 90449 32444 www.gargi.ai connect@gargi.ai



https://www.gargi.ai/question-answer/by-which-of-the-following-arrangement-and-pattern-questions-for-banking-62480
https://www.gargi.ai/

RAILWAY | SSC | STATE EXAMS

A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

GFDBHC HGDLPQ JFEATR CPNOM ZQKCB
2. Write all the letters of these five/six-letter formations in reverse order.
CHBDFC QPLDGH RTAEFJ MONPC BCKQZ

3. Take the third alphabet from each of these five/six-letter formations in the order of left to right to make a meaningful
word.

BLANK

Checking the options for BASIC:

Option 1: 792TS XT10OR LNU65 KM9OP YZ7Q8

Step 1: GIBTS XTAOR LNUFE KMIOP YZGQH

Step 2: STBIG ROATX EFUNL POIMK HQGZY

Step 3: BAUIG Incorrect (This is not the word we are looking for.)
Option 2: 792TS XT10OR LNS65 KM9OP YZ3Q8

Step 1: GIBTS XTAOR LNSFE KMIOP YZCQH

Step 2: STBIG ROATX EFSNL POIMK HQCZzZY

Step 3: BASIC Correct

Since we got our answer there is no need to check further options.

Hence the correct answer is 792TS XT1OR LNS65 KM9OP YZ3Q8.
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